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If E(X) = µ, then V (X) is defined by V (X) = E {(X− µ)(X− µ)′}.

If X ∼ N(µ,Σ), then AX ∼ N(Aµ,AΣA′).
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If X ∼ N(µ, σ2), then X2

σ2 ∼ χ2(1, λ), with λ = µ2

σ2

β̂ = (X′X)−1X′Y ∼ Np (β, σ2(X′X)−1) SSE/σ2 ∼ χ2(n− p)

F = (Lβ̂−h)′(L(X′X)−1L′)−1(Lβ̂−h)
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φ = (Lβ−h)′(L(X′X)−1L′)−1(Lβ−h)
σ2

f(y|θ, φ) = exp
{
yθ−b(θ)

φ
+ c(y, φ)

}
θ = g(µ) = η = x′β

> df = 1:8

> CriticalValue = qchisq(0.95,df)

> round(rbind(df,CriticalValue),3)

[,1] [,2] [,3] [,4] [,5] [,6] [,7] [,8]

df 1.000 2.000 3.000 4.000 5.00 6.000 7.000 8.000

CriticalValue 3.841 5.991 7.815 9.488 11.07 12.592 14.067 15.507


